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let W(te) dencte +he temperature at pornt > at +t'ne —t.
One dimensional  heat ?—‘{,MTfOV\ 1S+
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where k2o s o canstant (the thermal coduectivity of the
material )

Thot g, -the d\avxﬁe in heat at o specific pommt g proporhonal
to the cecond devivative of the heat along the wire.

+ Methoo of Separation of variableg
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both o'des wmuct be constent.
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Let AN =-w>. Then, { 21) + w2 =R
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4'te) + w* Y =0
The general selution of & +tokec the form
W) = 0yle (Wx) + b8in (wx)
The general selution of @ ¢
2 = < exp (— wE)
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solwe the =quetion .
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method '3]0 Sepafm—h'w of variahles:
@) 9t Y (tx) = x ltax)
let  Wiltx) = Alx) - B )
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we Get two Squatims: B' ) = - w” Bty



Aty = - W Abe)
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By initiod conekitim s
Conssder nitial comditlong - Llr_(o, ») = -P(o«()
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we ‘r*ectu{re +that WE Aw Sin(wx) = -J:(x)
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Thic raises +he Qquestion :
Given 'f ov (o Al —}('0):9\71) =0 . Can we —P:'y\o(
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In particular, ISy f W = 2 | £k
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